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VEHICLE TECHNOLOGY

Fraffa o f =) (Fftrham 37 : 70
Time allowed : Three Hours) [Maximum Marks : 70

A () FUHIE I B, 55 7 @ fagT WR & IR G |
Note : Question No. 1 is compulsory, answer any FOUR questions from the remaining.
(i) e T & FHf S B BHER G T & B |
Solve all parts of a question consecutively together.
(iii) % ¥ H1 79 98 & W Filrd |
Start each question on fresh page.
(v) 2177 ST 7 31w 8 @ ety 7 3 e & w8 |
Only English version is valid in case of difference in both the languages.

. ) PeddsRwAREFE R

(a) <= (b) 3 THEA

(c) Tehfima @ e

Which one of the following is not part of Chassis ?

(a) Wheel (b) Front Axle

(c) Differential (d) Seats
2) 3w il % H5 b we $i gt FRed @

(a) HH (b) =i

(c) UFEA SR (d) I H A HE A

The distance between the centres of front wheels is called

(@ Wheel Track (b) Wheel Base

(¢) Axle Width (d) None of the above
@) Trewas yonef @ 8 2

(a) Qe =t Ve (b) grEfam <idh @i ufdy T THiatE HE

(c) TR E e ¥ de o &I (d)  §o T G FGTT
Which one is not the function of suspension system ?
(a) To prevent rolling
(b) To transfer driving torque to wheel
(¢) To make contact between road and tyre
(d) To improve engine efficiency
(10f 8) P.T.O.
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aite wite ek i i v s i A @ 7
(a) FTEGSH (b) AT
(c) WEgNH (d) A SRATHETES
Which gas is used in Modern Shock Absorber ?
(a) Nitrogen (b) Oxygen
(c) Hydrogen (d) Carbon dioxide
s o 3w, Rew ggr gan dar
(@) HaH (b) RE
(c) Toeis= voreft & (d) Iulh A & HIE 78
In disc brake the disc is attached to the
(a) Wheel (b) Axle
(c) Suspension system (d) None of the above
o 3 woreht & difra g frebret i wfdra i HEd
(a) W 1 Gheer (b) b I HHTS
() ¥ Hr=hifEn (@) I A A HE T
Removing the entrapped air from the Hydraulic brake system is called
(a) Pureing of brake (b) Cleaning of brake
(c) Bleeding of brake (d) None of the above
e o § H @ wiffe Fore FE TR ?
(a) Uehdl e & ORREESE]
(c) emawd (d) 3UHE T
The following is known as positive clutch.
(a) Single plate clutch (b) Cone clutch
(¢) Dog clutch (d) Centrifugal clutch
faddsna o A TE R
(a) AT (b) ITHHY T
(c) vpTd @ P
Which of the following is not a friction clutch ?
(a) Fluid clutch (b) Centrifugal clutch
(c) Cone clutch (d) Disc clutch
¥l 3TS A R

(a) % T T frer sgE IEH (b) gy & 0 foas
) wdieaRmEFAR T (d) SWHTA
Advantage of free wheel unit

(a) Easy gear shifting at low speed

(b) Less wear in transmission

(c) Fuel saving on long slope

(d) All of the above
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e gr5d %1 SN feba ST
@@ fFrRsgmEmREfe  (©) firR Frura fr % < forg
() fresgmaeer®fae (@ 390 § | IS T

Over drive is used

(@) To reduce gear ratio (b) To fix the gear ratio
(c) To increase gear ratio (d) None of the above
e HRI § B A bR A FEH AR ?

(a) ER (b) uegifEn T
) TT=m=a (d) AfiirEm ueiE =i
Which type of wheel is used in modern cars ?

(a) Wire wheel (b) Aluminium alloy wheel
(¢) Disc wheel (d) Magnesium alloy wheel
{t@ﬁam%mﬁnﬁﬂaﬁqm@amﬁ:ﬁ 31 Fhal ?
) === (b) R

(c) wwiehl fhmreng =t (d) et e

Which of the following type of wheel cannot be used with a tubeless tyre ?
(a) Disc wheel (b) Wire wheel

(c) Light alloy wheel (d) Composite wheel

S BN el giRa |

(a) ST U AE g (b) TR GUEAR |
(c) AABEYUEAE d) THITHUE@R I

In four wheel drive, there is/are

(a) No live axle (b) One live axle

(¢) Two live axles (d) One dead axle
FiemaTse # fiRr aied &1 I

(a) it ufEda % fore (b) el uftada % feg
(c) "iagen & o (d) wfh=gH ® e
Gear box is used in automobile for

(a) Changing speed (b) Changing torque

(¢) Reducing speed (d) Increase power

e wife B v & i 3 fore i T g F d AR ?
@ FaiE (b) FeEE

) TEmsre (@) I9h | A HE A
For changing length of propeller shaft which joint is used ?

(a) Pinjoint (b) Universal joint

(¢) Slip joint (d) None of the above

P.T.O.
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(16) 3= ferequr gedt A Biar 2

(@) teTe g T (b) wiE TS TRR A
(c) e i deee T i d) 705 A B T

Tread distortion is least on

(a) Radial ply tyres (b) Cross ply tyres
(c) Cross ply belted tyres (d) None of the above
(17) Tesbfrre SR # wed v firm g 2
(a) Torfima firm () &= e
(c) ugE i : (d forfirr
The smallest gears inside the differential casing are
(a) Pinion gears (b) = Sun gears
(c) Side gears (d) Ring gears
(18) Fr=r § & o a1 svaaa featin yoreft w1 W AE 2 7
(a) feafm=a (b) g I
(c) e 3 @ T
Which of the following element is not part of steering system ?
(a) Steering wheel (b) Drop arm
(¢) Knuckle arm (d) Tyre
(19) weafifem fretst s § ficiet e e s glar 2 7
(a) veghiEs (b) <R fodh
(c) dia= (d) HRE AEH
In Aluminium cylinder block, the cylinder liner is made of
(a) Aluminium (b) Ceramic
(¢) Brass (d) Castiron
(20) aTE % ufeal w HAftrehan gyl ww g R
(a) Fmafaw (b) we i W
(c) S=HATMAR (d) Iqt et |
Maximum torque on wheels of a vehicle is at
(a) Low speed (b) Intermediate speed
(¢) High speed (d) All of the above
(21) TH 100 cc $94 F 100 cc HIIES giam 2
(a) R & & (b) T At &
(c) T @) feiet e
In 100 cc engine 100 cc parameter represents
(a) Fuel tank capacity (b) Lubrication oil capacity

(c) Swept volume (d) Cylinder volume

375
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(22) s 3 Fwrerae g i A @
(a) IR H T (b) SHHITR & FHRIUT T
() Fwurw o g g (d) I A A HIE TE
A camshaft is always placed in Engine
(a) Parallel to crankshaft (b) Perpendicular to crankshaft
(¢) Inclined with crankshaft (d) None of the above

(23) T T T g A 3 W T e
(a) W TIaEl W aheiEaE @Al (b) 1 T WX dehelihes Hart
(c) FIR BT Wifth (&) wu Afem afedm
The disadvantage of radial ply tyre compared to cross ply tyre is
(a) uncomfortable ride at low speed
(b) uncomfortable ride at high speeds
(¢) higher cornering power

(d) lower rolling resistance

(24) Tezin i 7vs @ g@u T 2

(a) 3BT b) AT
© 3nfas @ fe
Another name for the steering link rod is

(a) Trackrod (b) Tierod
(¢) Drag link (d) Pitman

(25) FTSbel BRI § qEH ftre T B aren S et i ?

(a) ¥ aur fuffem wer (b) <t T afEan THR

() ohH oI TeTt Wb (d) = quT 7E YK

Most popular manual steering gear for cars today is

(a) Rack and Pinion type (b) Worm and Wheel type
(c) Cam and Roller type (d) Worm and Nut type |

P.T.O.
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ZRR i 1 % Fieafteh qaTd 1 IS g @

(a) TS st § fer (b) HIE WG HI HH B
(c) e (d) Iwtis aft

Effect of high tyre pressure

(a) Quick wear of tyre tread (b) Reduce cushioning effect
(¢) Hard steering (d) All of the above
AT A T SA0 6 A &

(@) HiH (b) Shaid

© T (d) forafeen miti
Air brakes are mostly used in case of

(a) Cars (b) Jeeps

(¢) Trucks (d) Three wheelers
o romieht i gt st @ H &

(a) Sier Wi & e | gitEdd

(b) S v <t ife 7 aiEd

(c) SR A9 & 10T 9T FATE ST

(d) 90wl

Work of universal joint in a transmission system is
(a) Change of length of propeller shaft

(b) “Change of speed of propeller shaft

(¢) Torque transmission at angle by propeller shaft
(d) Al of the above

HtAraTse 3 W ITART H AT A ST IER Wi 2

(a) A T () T zETE

(c) el (d) I A A HE TE
Most commonly used Power Plant in automobile is

(a) [L.C.Engine (b) Gas Turbine

(c) Battery (d) None of the above
3T UEEE % Wey W1 @ UReese Bidl 2

(a) T-H&H (b) 18FA

() UJHH | (d Y-IHEH

Section of middle part of Front Axle is

(a) T-Section (b) I-Section

(c) U-Section (d) Y-Section (1x30)
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3 $a v ufean e &1 g o s |

Draw layout of front engine rear wheel drive.

e T T TR MR B i —h & e IIfed A 7
What are the factors affecting the power transmitted by a clutch ?
2R g F NI HE e B e |

Write the factors affecting tyre life.

¥ farg Fetin =t witfa i |

Define centre point steering.

‘e aee’ & o faflae |
Write advantages of ‘seat belt’. (2x5)

mﬁamwwﬁwmﬁﬁmi@ﬁa-qumﬂémﬂmﬁl

Draw labelled line diagram of Air Suspension system and explain its working in
brief.

THd 3 F @y 9 gl fafee |
Write advantages and disadvantages of disc brake. (5+5)

frevet @R & Y, FE ud ol @ fefa |
Write types, functions and defects of cylinder liner.
mﬁwﬁmﬁﬁauﬁﬂﬁq&ﬁwﬁammmmaﬂhmi

Describe different resistances on the motion of vehicle and the factors affecting
these. (5+5)

%ﬁsﬁm%amﬁaﬁmmﬁaﬁm%ﬁmaﬁmammaﬁaw
Hifag |

Write two functions of differential. Describe construction and working of limited slip
differential with neat sketch. (10)

()

(i)

()

(i)

s P <6 wETa & A WRETed daTEe i JHEsy |

Explain the valve operating mechanism with the help of neat diagram.

3 S 3w e 9o 1 S Ty e e fara 1 e hif |
Compare front engine front wheel drive and front engine rear wheel drive layout. (5+5)

2 sadt 1 HaY A qui BT |

Describe the torque converter in brief.
ﬁmﬁnmam%ﬂwmﬁaﬁaww I

Compare coil spring type and diaphragm spring type clutch with neat sketch. (5+5)

P.T.O.
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8. (i) oF Uka o=l 6&Y # quesy |
Explain the tubeless tyre in brief.
(i) Frafa e @1 s fm wge vd saeht Srivve qusse |
Draw the layout of vacuum brake and explain its working. (5+5)

9. = w dftre Roaforat ferfiaw :
Write short notes on the following : -
() & 9 i TerE
Gas filled shock absorber.
Gi) T
Tyre Retreading.
(iii) ot Trferare wfgan
Fluid flywheel | (3+4+3)



